Each stem statement is followed by five answers or completions, find the   one most appropriate.

1- Which is WRONG about the shoulder joint?
A. Has at least two synovial membrane protrusions,
B. Has one intracapsular intrasynovial tendon,
C. Its capsule attaches totally to the humeral anatomical neck,    XXX
D. Contradicts with the hip by mobility versus stability, 

E. Is a multi-axial synovial joint.
2- Which is WRONG about dorsal digital expansion of the ring finger?

A. Covers the dorsal aspect of metacarpophalangeal joint,
B. Its mid portion receives tendon of extensor digitorum,

C. Medially receives a lumbrical tendon,        XXX
D. Laterally receives part of a dorsal interosseous,

E. Medially receives part a palmar interosseous.

3- Which is correct about the nerve supply of the following muscles?

A. Lumbricals -----  ulnar,

B. Adductor pollicis ---- Ulnar superficial branch,
C. Abductor pollicis  ---- Median and ulnar,

D. Abductor digiti minimi ---- Ulnar deep branch,     XXX
E. Dorsal inter ossei ---- Radial nerve.

4- A man pushes a car; at the elbow the force is transmitted from the ulna to the humerus. Which of the following structures transmits the force from the radius to the ulna?
A. Annular ligament,
B. Interosseous membrane,    xxx
C. Bicipital aponeurosis,
D. Flexor retinaculum,
E. Carpal flexors, 
5- These muscles can act as follows, EXCEPT:

A. Deltoid ---- Shoulder flexion and medial rotation.

B. Brachialis ---- Elbow flexion,.

C. Biceps ---- Forearm supination and shoulder flexion.

D. Inter ossei and lumbricals ---- Interphalangeal joints extension.

E. Flexor digitorum superficialis ---- flexion of joints from wrist to distal interphalangeal joints.     XXX
6- Which correct about the biceps?

A. Works only on radiohumeral and superior radioulnar, joints.   
B. It is the pronator of flexed elbow,
C. It is the supinator of an extended elbow,   
D. The brachialis is an antagonist,
E. Is attached to scapula, radius and ulna.     XXX
7- The extensor retinaculum has the following, EXCEPT:

A. Attaches to radial lower end anterior border,

B. Attaches to pisiform and triquetrum,
C. Forms six osteofibrous tunnels,

D. Radial carpal extensor tendons lie in most lateral tunnel,    XXX
E. Extensor carpi ulnaris tendon lies in most medial tunnel.

8- Which of the following passes within the carpal tunnel?
A. Flexor pollicis longus.    XXX
B. Palmaris longus tendon,

C. Palmar cutaneous branch of median,

D. Ulnar nerve,

E. Radial artery, 
9- Muscles of the shoulder region have the following EXCEPT:

A. Are five in number,
B. Axillary nerve supplies two of them,
C. Suprascapular nerve supplies two of them,
D. One, receives two branches from brachial plexus posterior cord,
E. All can help preventing upward humeral displacement.  XXX
10- ONE of the following is WRONG about the axilla:

A. Three muscles are in its anterior wall,
B. Lower border of pectoralis minor is a mile stone,
C. Anterior wall is vertically shorter than posterior wall,
D. Brachial plexus cords surround axillary artery parts according to their names.   XXX
E. Serratus anterior on ribs forms its medial wall.
3.
Divide the muscles in the posterior forearm into THREE functional groups. 

Acting on wrist, fingers and thumb.
Which is wrong for muscles in posterior forearm?
A. Elbow prime flexors,    XXX 
B. Wrist extensors,

C. With wrist flexors can be adductors or abductors,
D. Finger extensors,

E. Thumb extensors.
What extra movements do you get at the metacarpophalangeal joints that you do not get at the interphalangeal joints? 

Abduction and adduction
.

. 
